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Temeraure — SGe muon

RunlD20140+142+143+144+145+330+332+335
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Temperature — 5GeV muon
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Temperature — 5GeV electron
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MIPs In 5GeV electron RuniD20301
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MIPs difference
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Cube VS STED consistency
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Cube VS STED consistency
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Cube_x_LO - STED_x_LO
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Cube barycenter minus STED extrapolation
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Cube barycenter restrict to (-0.5,0.5)
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Cube barycenter restrict to (-0.5,0.5)
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Cube barycenter minus STED extrapolation
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MIPs calibration update
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MIPs calibration update
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Energy distribution diverge
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Cube barycenter restrict to (-0.2,0.2)
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